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Question Paper Code : D 2535]

BEJB Tech. DEGREE EXAMINATION, APRILMAY 2010,
Fifth Semester

Computer Science und Engincering

MA 1256 — IS

ETE MATHEMATIC

(Regulation 2004)

Three hour Masisnurs - 100 marks
Answer AL questions.
PART A — (1032 = 20 marks)
State atomic and corsponnd statemen

16 Ay A Ay s P iaoply @, show that Ay, Ay oy P> @

Show that the formula @ v (P  ~Q)v (<P A~Q) is 4 Lautologs
Synbulize the expression “All the world Joves a lover'.

Show hat the inclusion relution © is u partial ordering on the power s
sl S.

Lot A=

i matrix

(5.6,7,8) and R= (X, ¥} > ¥}. Draw the graph of 2 and also give

1 tho function £ 1% defined by £{x]= x* +1 on the set. | 2
sae of |

,-1,0,12}, find the

11 the sels A and B have m and n eloments respectivels, How many different
relations as well as functions are there from A to 57

Shaw that the snverse of the product of two elesents of a group is the product
of taeir inverss i rovorse order,

Shav that overy subgroup of an abclian govp is normsl
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PART B

Show Usal Ra[Pv@) is a valid conclusion from the premises

PeQu@—RP > M and M 5

Without constructing truth  table obtain the  PDNFof
(7 nQIv (L ARIVQ A R). )

or

Show that R—S can he derived from the premises
Pl 28} Ry P andQ ®

Obtain the PCNF of the formula § given by (P = £)a [Q < P)

without conssracting tuch cable )

Using rules of inference show Lhal § v 1 s tautolugically imphied

by (P @) a (P o RIA @ > 5). @
Show that ({PIX) A QU= P I (FIQLX) the
converse truc? )

or

blish the valdity of Lie following argument : “All integers are

rational aumbers. Some integors are powers of 2. Therefore, some

rational numbers are poscers of 2" @

Show that {¢X)(POX ) QUK =X (X ) (X QLX) by using the

indirect method of proo. @

Lot X < {1,2,...7} and &= [}

R om cquivalence relation. Draw e graph of 1 It

~y isdivisible by 3). Show that

Shaw that the compleient of every clement in a Hoolean algebra is

e, ®

or
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G0 Show that the Do Morgan's laws hold good for o complomented
distributive lattice (L, v )

1 fw ) Lel R donote the set of real numbers, £:R <+ R and g R R be
4. Check whether f

and g e bigoetive, Find o2 and o £ Also check whether Uiese

ative, @®

functions defined by ffr)=x* - 2 and 4(3)

functions are bi
axt pe -8
wrhe wt

sategral of values of ' for which /10 onto. Is te Fanetion one-Lo-one
for a1 = 37 Justfy your claim.

1A funetion (1R R is defined by flc)

o
byt Show that £ R R defined by flx]= 203 is a injeetive and
suriective and find it invorse. Compate £ 'and £+ ' ®

Gl Let the permutations of the eloments {L,2,3.4,5] be given by

el ) afler e
pe
s145) Lz
TS
S o R
4312/ ls 21

Find o, .3 and affy. Salve the equation ox -

TR T e A
G is a subgronp of (7. 6}

i Show that eeery fnite group norphic 1o U
graup. 10;

pormtation

or




[image: image4.jpg]W)y Find the code words peneeuted by the eacodiog function
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H=[1 1071 af 5
o100l

i Tt T b subgroup of u finite group G. Show that (he ordor of 1
R ) @
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